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Q.1 The given sentence contains a grammatical error. Identify the segment that contains the
error. 

Last Saturday evening we go to a party.

Ans 1. evening we

2. go to

3. Last Saturday

4. a party

Question ID : 65497817521
Chosen Option : 3

Q.2 The given sentence contains a grammatical error. Identify the segment that contains the
error.

They could be pass their exams if they studied harder.

Ans 1. studied harder

2. pass their exams

3. if they

4. They could be

Question ID : 65497817523
Chosen Option : 1

Q.3 Select the most appropriate word to fill in the blank.

Two people were ______ to death when a bike hit a truck.

Ans 1. crushed

2. fell

3. rushed

4. brushed

Question ID : 65497817545
Chosen Option : 1
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Q.4 Select the most appropriate word to fill in the blank.

______, not revenge, is the key to happiness and peace.

Ans 1. Forgiveness

2. Arrogance

3. Pride

4. Humility

Question ID : 65497817546
Chosen Option : 1

Q.5 Select the most appropriate ANTONYM of the given word.

ABSORB

Ans 1. Solve

2. Drink

3. Eject

4. Oppose

Question ID : 65497817536
Chosen Option : 3

Q.6 Choose the correctly spelt word.

Ans 1. Gramar

2. Grrammer

3. Gramer

4. Grammar

Question ID : 65497817543
Chosen Option : 4

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

She came to work in spite of the heavy rain.

Ans 1. despite of

2. while

3. No substitution required

4. although

Question ID : 65497815817
Chosen Option : 1



Q.8 Select the most appropriate option to substitute the underlined segment in the given
sentence. 

I cannot put with his rudeness any longer.

Ans 1. put up

2. put away

3. put up to

4. put up with

Question ID : 65497818038
Chosen Option : 4

Q.9 Select the most appropriate words to fill in the blank.

Mr. Patel is the manager, so you need to explain ______.

Ans 1. for him

2. to him

3. from her

4. to her

Question ID : 65497817524
Chosen Option : 2

Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Juliet is telling to Ben to complete the work immediately.

Ans 1. informing to

2. saying

3. telling

4. asking to

Question ID : 65497817532
Chosen Option : 1

Q.11 Select the most appropriate word that means the same as the group of words given.

A change in the form or nature of something

Ans 1. Metamorphosis

2. Hibernation

3. Refraction

4. Camouflaging

Question ID : 65497817542
Chosen Option : 1



Q.12 Select the most appropriate meaning of the given idiom.

Work out

Ans 1. Do something successfully

2. Exercise or develop a plan

3. Struggle very hard

4. Work very hard

Question ID : 65497817539
Chosen Option : 2

Q.13 The given sentence contains a grammatical error. Identify the segment that contains the
error.

My cousin is not like going for a walk very much.

Ans 1. going for a walk

2. very much

3. is not like

4. My cousin

Question ID : 65497817522
Chosen Option : 3

Q.14 Select the most appropriate word that means the same as the group of words given.

Hard and difficult to bend

Ans 1. Strong

2. Flexible

3. Pliable

4. Rigid

Question ID : 65497817541
Chosen Option : 1

Q.15 Select the most appropriate synonym of the given word.

ACTIVE

Ans 1. Lazy

2. Quiet

3. Busy

4. Similar

Question ID : 65497817537
Chosen Option : 3



Q.16 Select the most appropriate synonym of the given word.

BIND

Ans 1. Spoil

2. Bend

3. Tighten

4. Fasten

Question ID : 65497817538
Chosen Option : 4

Q.17 Select the most appropriate meaning of the given idiom.

Back up

Ans 1. Stand up to fight

2. Withdraw

3. Think about the past

4. Defend or support

Question ID : 65497817540
Chosen Option : 4

Q.18 Select the most appropriate ANTONYM of the given word.

ADD

Ans 1. Continue

2. Remove

3. Increase

4. Multiply

Question ID : 65497817535
Chosen Option : 2

Q.19 Choose the correctly spelt word.

Ans 1. Falkrum

2. Phelcram

3. Phalkram

4. Fulcrum

Question ID : 65497817544
Chosen Option : 4

Q.20 Select the most appropriate words to fill in the blank.

The job offer was too good for Ranjith to ______.

Ans 1. turn off

2. turn back

3. turn from

4. turn down

Question ID : 65497817525
Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank. 

Recently, there was a news report about a man who tried to catch a robber but suffered a hip
(1)______ in the process. The victim was a plumber and he was (2)______ in the hall outside
the bedroom. He had left the bedroom door open for better ventilation. (3)______ two hours
after midnight, he heard some noise from the bedroom. When he went in to check, he found a
man (4)______ open the cupboard and taking away jewellery and cash. On seeing him, the
robber tried to escape and jumped from the second floor. The plumber (5)______ the robber
and jumped after him. Unfortunately, he hit a concrete wall and broke his hip; he was rushed
to a nearby hospital. The robber managed to escape.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

Ans 1. disease

2. problem

3. condition

4. fracture

Question ID : 65497817527
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank. 

Recently, there was a news report about a man who tried to catch a robber but suffered a hip
(1)______ in the process. The victim was a plumber and he was (2)______ in the hall outside
the bedroom. He had left the bedroom door open for better ventilation. (3)______ two hours
after midnight, he heard some noise from the bedroom. When he went in to check, he found a
man (4)______ open the cupboard and taking away jewellery and cash. On seeing him, the
robber tried to escape and jumped from the second floor. The plumber (5)______ the robber
and jumped after him. Unfortunately, he hit a concrete wall and broke his hip; he was rushed
to a nearby hospital. The robber managed to escape.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans 1. being sleeping

2. sleeping

3. been sleeping

4. had been sleeping

Question ID : 65497817528
Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank. 

Recently, there was a news report about a man who tried to catch a robber but suffered a hip
(1)______ in the process. The victim was a plumber and he was (2)______ in the hall outside
the bedroom. He had left the bedroom door open for better ventilation. (3)______ two hours
after midnight, he heard some noise from the bedroom. When he went in to check, he found a
man (4)______ open the cupboard and taking away jewellery and cash. On seeing him, the
robber tried to escape and jumped from the second floor. The plumber (5)______ the robber
and jumped after him. Unfortunately, he hit a concrete wall and broke his hip; he was rushed
to a nearby hospital. The robber managed to escape.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans 1. At

2. By

3. About

4. For

Question ID : 65497817529
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank. 

Recently, there was a news report about a man who tried to catch a robber but suffered a hip
(1)______ in the process. The victim was a plumber and he was (2)______ in the hall outside
the bedroom. He had left the bedroom door open for better ventilation. (3)______ two hours
after midnight, he heard some noise from the bedroom. When he went in to check, he found a
man (4)______ open the cupboard and taking away jewellery and cash. On seeing him, the
robber tried to escape and jumped from the second floor. The plumber (5)______ the robber
and jumped after him. Unfortunately, he hit a concrete wall and broke his hip; he was rushed
to a nearby hospital. The robber managed to escape.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans 1. closing

2. breaking

3. opening

4. examining

Question ID : 65497817530
Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank. 

Recently, there was a news report about a man who tried to catch a robber but suffered a hip
(1)______ in the process. The victim was a plumber and he was (2)______ in the hall outside
the bedroom. He had left the bedroom door open for better ventilation. (3)______ two hours
after midnight, he heard some noise from the bedroom. When he went in to check, he found a
man (4)______ open the cupboard and taking away jewellery and cash. On seeing him, the
robber tried to escape and jumped from the second floor. The plumber (5)______ the robber
and jumped after him. Unfortunately, he hit a concrete wall and broke his hip; he was rushed
to a nearby hospital. The robber managed to escape.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans 1. ran

2. chased

3. darted

4. dashed

Question ID : 65497817531
Chosen Option : 2

Q.1 ‘अ� याय’ का ‘प�ु तक’ से वही संबंध है, जो ‘बोगी’ का ‘_______’ से है।

Ans 1. रेल क� पटरी

2. इंजन

3. प�हया

4. रेलगाड़ी

Question ID : 65497818367
Chosen Option : 4

Section : General Intelligence and Reasoning



Q.2

Ans

1. 

2. 

3. 

4. 

Question ID : 65497818377
Chosen Option : 1

Q.3 चार कथन� के बाद तीन �न�कष� I, II और III �दए गए ह�। यह मानते �ए �क कथन� म� द� गई जानकारी स�य है,
भल ेही यह सामा�य �प से �ात त�य� से �भ� �तीत हो, �नधा��रत कर� �क कौन से �न�कष� कथन� का ता�क�क
�प से अनसुरण करते ह�? 

कथन:
1. सभी धलू, �कृ�त ह�।
2. कोई �कृ�त, नद� नह� है।
3. सभी जल, न�दयां ह�।
4. कुछ तरल, जल ह�।

�न�कष�:
I. कुछ �कृ�त, जल ह�।
II. सभी �कृ�त, धूल ह�।
III. सभी न�दयां, तरल ह�।

Ans 1. केवल �न�कष� III अनुसरण करता है।

2. कोई भी �न�कष� अनुसरण नह� करता है।

3. �न�कष� I, II और III, सभी अनुसरण करते ह�।

4. �न�कष� I और II, दोन� अनुसरण करते ह�।

Question ID : 65497818370
Chosen Option : 2



Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 65497818374
Chosen Option : 3

Q.5

Ans

1. 

2. 

3. 

4. 

Question ID : 65497818375
Chosen Option : 4



Q.6 उस �वक�प का चयन कर � जो �दए गए श�द� का वह �म दशा�ता है �जस �म म� वे अं�ेजी श�दकोश आते ह�? 

1. Calibrate
2. California 
3. Caliphate
4. Calicut
5. Caliber

Ans 1. 5, 1, 4, 2, 6, 3

2. 1, 5, 4, 2, 6, 3

3. 4, 1, 5, 6, 3, 2

4. 5, 1, 2, 4, 3, 6

Question ID : 65497818373
Chosen Option : 1

Q.7 �दए गए समीकरण को संतु�लत करने के �लए, इनम� से �कन दो �च�� को एक-�सरे से ��त�ा�पत करना होगा?

45 × 10 – 125 ÷ 25 + 5 = 30

Ans 1. – और +

2. × और +

3. ÷ और –

4. × और –

Question ID : 65497818355
Chosen Option : 2

Q.8 �कसी �न��त कूट भाषा म�, 'ROMAN' को 'ILNZM' �लखा जाता है। इसी कूट भाषा म �, 'FRANCE' को �या
�लखा जाएगा?

Ans 1. UIZMVX

2. VIZMUX

3. XIZMVU

4. UIZMXV

Question ID : 65497818362
Chosen Option : 4

Q.9 उस �वक�प का चयन कर�, जो तीसरी सं�या से उसी �कार संबं�धत है, �जस �कार �सरी सं�या पहली सं�या से
संबं�धत है।

13 : 182 : : 18 : ?

Ans 1. 338

2. 306

3. 324

4. 342

Question ID : 65497818357
Chosen Option : 4



Q.10 �दए गए पैटन� का सावधानीपूव�क अ�ययन कर� और उस सं�या को चुन�, जो ��वाचक �च� (?) के �ान पर आ
सकती है?

3 4 343
6 8 2744
9 ? 1331

Ans 1. 2

2. 12

3. 11

4. 8

Question ID : 65497818358
Chosen Option : 1

Q.11 In a certain code language, ZEAL is coded as B21N and PLACE is coded as RN1E2. How will
MORNING be coded in the same language?

Ans 1. O4TQ3QI

2. 44TP3P3

3. O4TP3PI

4. P5UQ9QJ

Question ID : 65497818364
Chosen Option : 3

Q.12 उस सं�या को चुन�, जो �न�न �ेणी म� ��वाचक �च� (?) के �ान पर आ सकती है?

?, 7, 14, 42, 168

Ans 1. 4

2. 3

3. 1
 

4. 7

Question ID : 65497818359
Chosen Option : 4

Q.13 �कसी कंपनी के सात कम�चारी- चंदन, अ�य�पन, सुकेश, रेखा, अं�कत, माधवी, सा�वी वृ�ाकार स�मेलन मेज के
चार� ओर क� �ा�भमुख होकर बैठे ह�।

1. चंदन, अ�य�पन और सुकेश के बीच बठैा ह।ै
2. रेखा, जो सुकेश के दा� ओर �सरे �ान पर बैठ� है, अं�कत और माधवी के बीच बैठ� है।
3. अं�कत, सा�वी के बगल म� नह� बैठा है।
�न�न म � से कौन-सा कथन गलत है?

Ans 1. सा�वी, अं�कत के दा� ओर तीसरे �ान पर बैठ� है।

2. रेखा, माधवी के ठ�क दा� ओर बैठ� है।

3. अ�ंकत, रेखा के ठ�क बा� ओर बैठा ह।ै

4. माधवी, सकेुश के दा� ओर तीसरे �ान पर बैठ� है।

Question ID : 65497818371
Chosen Option : 2



Q.14 ग�णतीय �च�� के उस सही �म का चयन कर�, �ज�ह� �दए गए समीकरण म � ��मक �प से * �च�� के � थान पर
रखने पर समीकरण संतु�लत हो जाएगा।

16 * 280 * 6 * 84 * 4 = 0

Ans 1. ÷, +, –, ×

2. –, ×, ÷, +

3. –, ×, +, ÷

4. ×, –, ÷, +

Question ID : 65497818356
Chosen Option : 2

Q.15 उस �वक�प का चयन कर�, जो तीसरे अ�र-समूह से ठ�क उसी �कार संबं�धत ह,ै �जस �कार �सरा अ�र-समूह
पहले अ�र-समूह से संबं�धत है।

FOCUS : OQLWB : : MINOR : ?

Ans 1. VKWQA

2. VJVQA

3. WKVQB

4. VKWPB

Question ID : 65497818365
Chosen Option : 1

Q.16 �कसी �न��त कूट भाषा म�, 'TRY' को 21 के �प म� तथा 'SAGE' को 8 के �प म� कूटब� �कया जाता है। इसी
कूट भाषा म �, 'COURAGE' को �कस �प म� कूटब� �कया जाएगा?

Ans 1. 7

2. 10

3. 17

4. 70

Question ID : 65497818363
Chosen Option : 2

Q.17 �दए गए पटैन� का �यानपवू�क अ�ययन कर �, तथा उस �वक�प का चयन कर�, जो इसम� X के मान को �न��पत कर
सकता ह।ै

1 3 5 7 11
2 11 28 X 126

Ans 1. 35

2. 53

3. 41

4. 49

Question ID : 65497818360
Chosen Option : 2



Q.18 �कसी �न��त कूट भाषा म�, 'MOLE' को 'ELOM' �लखा जाता है। इसी कूट भाषा म �, 'DRIVE' को �या �लखा
जाएगा?

Ans 1. ERIDV

2. EVIRD

3. ERIVD

4. EVIDR

Question ID : 65497818361
Chosen Option : 2

Q.19 आ�द�य, हष�, ��ा, �न�ध, क�ण, �ेम और उमेश सात दो�त उ�र क� ओर मुंह �कए पं�� म� बैठे ह� और �थएटर
म � �फ�म देख रह ेह�, ले�कन ज�री नह� �क इसी �म म� ह�। �ेम या तो दा� ओर या तो बा� ओर से �सर े�ान पर
बैठा है। �न�ध और �ेम के बीच दो ��� बैठे ह�। ��ा, क�ण के बा� ओर चौथे �ान पर बैठ� है। उमेश, �न�ध के
ठ�क बा� ओर बैठा है। हष�, ��ा के दा� ओर तीसरे �ान पर बैठा है। ��ा �कसी भी छोर पर नह� बैठ� है।

�ेम के ठ�क दा� ओर कौन बैठा है?

Ans 1. �न�ध

2. क�ण

3. आ�द�य

4. ��ा

Question ID : 65497818372
Chosen Option : 4

Q.20 उस �वक�प का चयन कर�, जो तीसरे श� द से ठ�क उसी �कार संबं�धत है, �जस �कार �सरा श� द पहले श� द से
संबं�धत ह।ै

दप�ण : परावत�न : : ��� म : ?

Ans 1. �क�ण�न

2. प�र�ेपण

3. उ� �मण

4. परावत�न

Question ID : 65497818366
Chosen Option : 1

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497818379
Chosen Option : 1



Q.22 दो कथन� के बाद दो �न�कष� I और II �दए गए ह�। यह मानते �ए �क कथन� म� द� गई जानकारी स�य है, भल ेही
यह सामा�य �प से �ात त�य� से �भ� �तीत हो, �नधा��रत कर� �क कौन से �न�कष� कथन� का ता�क�क �प से
अनुसरण करते ह�? 

कथन:
1. कुछ पेड़ शाखाए ंह�।
2. सभी लक�ड़यां शाखाए ंह�।

�न�कष�:
I. सभी पेड़ लक�ड़यां ह�।
II. सभी शाखाए ंलक�ड़यां ह�।

Ans 1. केवल �न�कष� II अनुसरण करता है।

2. �न�कष� I और II, दोन� अनुसरण करते ह�।

3. न तो �न�कष� I और ना ही II अनुसरण करता ह।ै

4. केवल �न�कष� I अनुसरण करता है।

Question ID : 65497818369
Chosen Option : 3

Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 65497818378
Chosen Option : 1



Q.24

Ans

1. 

2. 

3. 

4. 

Question ID : 65497818376
Chosen Option : 3

Q.25 चार अ�र-समूह �दए गए ह�, �जनम � से तीन �कसी �कार समान ह� और एक असंगत है। उस असंगत अ�र-समूह
का चयन कर�।

Ans 1. GHN

2. ABG

3. CDI

4. EFK

Question ID : 65497818368
Chosen Option : 1

Q.1

Ans
1. 

2. 

3. 

4. 

Question ID : 65497815357
Chosen Option : 4

Section : Numerical Aptitude



Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815372
Chosen Option : 3



Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815374
Chosen Option : 4

Q.4

Ans
1. 

2. 

3. 

4. 

Question ID : 65497815363
Chosen Option : 2



Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815368
Chosen Option : 2

Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 65497814765
Chosen Option : 3

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815366
Chosen Option : 3

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815364
Chosen Option : 4



Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497816986
Chosen Option : 3

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815367
Chosen Option : 3

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815351
Chosen Option : 1

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815360
Chosen Option : 2
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4. 

Question ID : 65497815359
Chosen Option : 1

Q.14

Ans
1. 

2. 

3. 

4. 

Question ID : 65497815350
Chosen Option : 4

Q.15

Ans
1. 

2. 
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4. 

Question ID : 65497815354
Chosen Option : 4

Q.16

Ans
1. 

2. 
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4. 

Question ID : 65497815358
Chosen Option : 2
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Ans 1. 
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4. 

Question ID : 65497815355
Chosen Option : 1

Q.18

Ans 1. 
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3. 

4. 

Question ID : 65497815352
Chosen Option : 2

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497815356
Chosen Option : 2



Q.20

Ans 1. 
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Question ID : 65497815373
Chosen Option : 4

Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 65497815353
Chosen Option : 3



Q.22

Ans
1. 

2. 

3. 

4. 

Question ID : 65497815362
Chosen Option : --

Q.23

Ans 1. 
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4. 

Question ID : 65497815365
Chosen Option : 3
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Ans 1. 

2. 
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Question ID : 65497815369
Chosen Option : 1

Q.25

Ans 1. 
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4. 

Question ID : 65497815361
Chosen Option : 3

Section : General Awareness



Q.1 वायमुंडल क� �कस परत म� उ�का�प�ड� के जलने क� घटनाए ँहो सकती ह�?

Ans 1. ब�हम�डल

2. तापमडंल

3. म�यमंडल

4. समतापमडंल

Question ID : 65497817820
Chosen Option : 1

Q.2 �न�न�ल�खत म � से �कसन े‘सव��ट्स ऑफ इं�डया सोसायट�’ क� �ापना क�?

Ans 1. गोपाल कृ�ण गोखले

2. रमाबाई रानाडे

3. गोपीनाथ बारदोलोई

4. सरो�जनी नायडू

Question ID : 65497817822
Chosen Option : 1

Q.3 �कस भारतीय शहर म� नीलाचल �ह�स ह�?

Ans 1. इंदौर

2. बरेली

3. गंगटोक

4. गुवाहाट�

Question ID : 65497817819
Chosen Option : 4

Q.4 कौन सी नद� जोग जल�पात सृ�जत करती है, �जसे गरसो�पा जल�पात भी कहा जाता है?

Ans 1. �शमशा नद�

2. काली नद�

3. का�बनी नद�

4. शरावती नद�

Question ID : 65497817818
Chosen Option : 4

Q.5 पतु�गाली खोजकता� वा�को डी गामा ने वष� 1498 म� ______ म� पदाप�ण �कया।

Ans 1. तूतीको�रन

2. नागरकोइल

3. कलंगुट

4. कालीकट

Question ID : 65497817823
Chosen Option : 4



Q.6 '�रखमपाड़ा' ______ का पारंप�रक नृ�य है।

Ans 1. अ�णाचल �देश

2. म�य �देश

3. उ�र �देश

4. �हमाचल �देश

Question ID : 65497817800
Chosen Option : 1

Q.7 ज�टल खा� पदाथ� ______ क� सहायता से सरल खा� पदाथ� म� �वघ�टत हो जाते ह�।

Ans 1. हॉम��स

2. जीवाणु

3. कवक

4. ए�ज़ाइ�स

Question ID : 65497817815
Chosen Option : 2

Q.8 1818 म � हो�कर राजवंश न े______ के साथ मंदसौर क� सं�ध पर ह�ता�र �कए।

Ans 1. �� च

2. डच

3. डै�नश

4. ���टश

Question ID : 65497817821
Chosen Option : 4

Q.9 च�धर समारोह का आयोजन उ�ताद अलाउ��न खान संगीत अकादमी और च�धर ल�लत कला क� � �ारा
महाराजा च�धर �स�ह क� गौरवशाली �मृ�त के उपल�य म� �कया जाता है, �ज�ह�ने संगीत म � ______ घराने क�
�ापना क� थी।

Ans 1. लखनऊ

2. �वा�लयर

3. इलाहाबाद

4. रायगढ़

Question ID : 65497817806
Chosen Option : 2

Q.10 भारत के सं�वधान का कौन सा अन�ेुद रा�प�त �ारा �मा आ�द �दान �कए जाने और कुछ मामल� म� सजा को
�नल�ंबत, माफ या कम �कए जान ेक� श�� को प�रभा�षत करता है?

Ans 1. अनु�ेद 63

2. अनु�ेद 72

3. अनु�ेद 81

4. अनु�ेद 55

Question ID : 65497817810
Chosen Option : 4



Q.11 2020 के बजट के ‘ए��रेशनल इं�डया’ शीष�क के अंतग�त �न�न�ल�खत म � से �या शा�मल है?

Ans 1. बु�नयाद� सु�वधा

2. नई अथ��व�ा

3. स�ंकृ�त और पय�टन

4. �श�ा और कौशल

Question ID : 65497818211
Chosen Option : --

Q.12 फवाद �मज़ा� का संबधं �कस खेल से है?

Ans 1. जूडो

2. र�बी

3. तैराक�

4. घुड़सवारी

Question ID : 65497817802
Chosen Option : --

Q.13 17व� लोकसभा म � म�हला सासंद� क� कुल सं�या �कतनी है?

Ans 1. 56

2. 81

3. 78

4. 64

Question ID : 65497817812
Chosen Option : 1

Q.14 ______ म � �ल�गुअल लाइपज़े नामक एक एजंाइम होता है, जो वसा को �वघ�टत करता है।

Ans 1. अमाशय

2. छोट� आँत

3. लार

4. बड़ी आँत

Question ID : 65497817813
Chosen Option : 1

Q.15 �न�न�ल�खत म � से �कस मं�ालय को भारत के क� ��य बजट 2020 म� सबसे अ�धक बजट�य आवंटन �मला?

Ans 1. �श�ा

2. म�हला एवं बाल �वकास मं�ालय

3. र�ा

4. स�ूम, लघु एवं म�यम उ�म

Question ID : 65497817809
Chosen Option : 3



Q.16 �न�न�ल�खत म� से �कस भारतीय �नशानबेाज ने 2018 आइएसएसएफ (ISSF) जू�नयर �व� कप म � 10 मीटर
एयर राइफल � ेणी म� �वण� पदक जीता?

Ans 1. अपरा�जता �स �ह

2. इलावे�नल वला�रवन

3. अनीसा सैयद

4. राही सरनोबत

Question ID : 65497817803
Chosen Option : 4

Q.17 Which one of the following is a ritual folk art traditional to the state of Kerala?

Ans 1. Phad

2. Pithora

3. Manjari

4. Margomkali

Question ID : 65497817801
Chosen Option : 4

Q.18 1987 म �, चौधरी देवी लाल न े______ आदंोलन का नेतृ�व �कया था।

Ans 1. �याय यु�

2. महा यु�

3. सघंष� यु�

4. इंसाफ यु�

Question ID : 65497817811
Chosen Option : --

Q.19 प�मीना शॉल नामक महीन शॉल �कन बक�रय� के अधोलोम से बुना जाता है?

Ans 1. अ�पाइन बकरी

2. क�मीरी बकरी

3. बोअर बकरी

4. जमनापरी बकरी

Question ID : 65497817814
Chosen Option : 2

Q.20 What is the network of air tubes for gas exchange in insects?

Ans 1. Tracheae

2. Spiracles

3. Gills

4. Diaphragm

Question ID : 65497817816
Chosen Option : 4



Q.21 ‘�ाई आई एम ऐन अथी�ट (Why I am an Atheist') शीष�क पु�तक के लखेक कौन ह�?

Ans 1. राजा राममोहन राय

2. बी.आर. अंबेडकर

3. �यो�तबा फुले

4. भगत �स�ह

Question ID : 65497817805
Chosen Option : 4

Q.22 पहाड़ी रा�य� म � �धानमं�ी आवास योजना-�ामीण के तहत �दान क� जाने वाली एकल सहायता रा�श �कतनी
होती है?

Ans 1. ₹1.30 लाख
 

2. ₹1.25 लाख
 

3. ₹1.15 लाख
 

4. ₹1.50 लाख
 

Question ID : 65497815990
Chosen Option : 4

Q.23 'कामसल'े ______ रा�य का एक पारंप�रक लोक न�ृय �प है।

Ans 1. गुजरात

2. कना�टक

3. असम

4. गोवा

Question ID : 65497817799
Chosen Option : --

Q.24 भावाथ� द��पका और अमृतानभुव ______ के लोग� क� प�व� पु�तक�  ह�।

Ans 1. राज�ान

2. ह�रयाणा

3. गुजरात

4. महारा�

Question ID : 65497817804
Chosen Option : --

Q.25 �वपोषी जीव� क� ऊजा� और काब�न आव�यकता� को ______ �ारा पूरा �कया जाता है।

Ans 1. अपघटन

2. �लाइको�ल�सस

3. �ा��ान

4. �काश सं�ेषण

Question ID : 65497817817
Chosen Option : 4
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